KCL

VQ Series Triple Pump Ordering Code
VQ R3I=FRETEEES|

DVQ4325

@

2 ® ®

Series Number -------——-
R

P1:Discharge Port -------

Shaft End c.c /rev
PlEHO (FENE S EE)

P2:Discharge Port --------------—--

Shaft End c.c /rev
P2H5mO

P3:Discharge Port -------—-——-———-

Shaft End c.c /rev
P3HHO (BB EE)
Mounting Type
ZERHI

Shaft Rotation --———-_____

(view from Shaft End)
BEE (RIS E)
Discharge Port Position
(P1) Shaft End Pump
(view from Shaft End)
P1HAO (e 5 E)
Suction Port Position
(view from Shaft End)
ERO GINERT5EE)

Discharge Port Position -----------

(P2) Shaft End Pump
(view from Shaft End)

P2HmO (R 5 E)

Discharge Port Position
(P3) Shaft End Pump
(view from Shaft End)

P3O (eI TS E)

Shaft Type ---------------—---m——-

I\EhFELR

Weight E&:
Flange Type jABERY: 92 Kg
Foot Type FIEERY: 123 Kg

DVQ 4325

136,156,189
200,216,237

60,66,76,82,88
94,108,116,125

18,22,26,32,38,43
47,52,60,65,75

F:Flange Type ERSEY
L:Foot Type RAIEEEY

R:Clockwise |[BFFEt
L:Anti-Clockwise RBFEt

A:Upward (normal) [
B:Downward [@F
R:Right Hand 7328
L:Left Hand #AiE
A:Upward (normal) [
B:Downward [@F
R:Right Hand #i&
L:Left Hand #AiZ
A:Upward (normal) [
B:Downward @
R:Right Hand 572
L:Left Hand #AiZ
A:Upward (normal) [
B:Downward [@F
R:Right Hand 72
L:Left Hand #Ai2

01




KCL

VQ Series Triple Pump Dimensional Drawing

VQ RII=BRNEERYTE

DVQ4325

SUCTION PORT @ 101.6
4-M16x2.0P DEEP 19

DISCHARGE PORT P2 @ 30.5
4-M10x1.5P DEEP 19

5

130.2

- o 4-@ 22 HOLES
g Heo
TERES T 2 209 87 S 47 0 43 SPOTFACER 1 DEEP
‘ = o a
— | Al n
(an] o —
- SIS
2 ;
£ = <
o
g
+ &
+0
30 127 04
— T T
o
o 23 1143 |39
g < 185
H@‘
\[}
I i
‘3\ Foot Type (RAIEERY)
| DISCHARGE PORT P1 0 38

DISCHARGE PORT P3 @ 24.5

4-M10x1.5P DEEP 19

4-M12x1.75P DEEP 20

113

+0

+0

140
119
92
75

—

‘
W
wn
+0
0.05

0 38.1.0.021
42.36 018

228.6

01524,

o




